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Question 1
Market for Dental VisitsP

Q
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P1

Q2 Q1

D2

Total
Spending

Question 2

Out of pocket

45o line

$256

$256

$2400

$536

$5451

$3587

Individual
payment
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$9

6 7.2

Question 3

$15

Q

P

$150

5

$600

$60

Question 4
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Price

Quantity

Supply

8 16 20

a

b

c

100

500

c

d

e

f

g

60

Question 5

X

Y Problem 13
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X

H

I(1-t1 )=$420

I(1-t1 ) = $420

$600

a

b

c Problem 14

e

I(1-t2)=$360

X

H

I(1-t)=$420

I(1-t) = $420

$600

X1
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U2

X2X3
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b

c

d
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H1

H2 H3

Problem 15
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X

H

$420

$600

X4

U3

U2

X2 X3
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c
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H2

H3

Problem 16

$510

H4


